ECHNICAL INFORMATION

'Il! " A!! ! !'!

76313

Subject B> Change of Four M6x60 Hex. Socket Head Bolts

For Models > TW1000

May 2006

Country P> All countries
IDISw R elE(0)8 ) B Four M6x60 Hex. socket head bolts have been changed for further improvement in adhesive
strength.
» Current > New
Adhesive Adhesive
Smm 10mm

Interchangeability(I/C)

Item No. Current part Q'ty| I/C New part Q'ty Note
Hex. Socket Head Hex. Socket Head The part number remains
036 |Bolt M6x60 4 | <«—|Bolt M6x60 4 P
-------------------------------------------------- the same.
265538-4 265538-4

Interchangeability mark ;
The arrow «+— means that the new part can be substituted for the current.

Implementation

From serial No. 6005E (May, 2006)



